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In news– In its recently released Monthly Economic Report, the
Finance Ministry expressed concern about the re-emergence of
the  twin  deficit  problem  in  the  economy  due  to  higher
commodity  prices  and  rising  subsidy  burden.  

What is twin deficit problem?

The twin deficits in question are the fiscal deficit and the
current account deficit. Both have a tendency to increase to
levels  considered  risky  for  maintenance  of  macroeconomic
stability,  and  especially  the  rupee-dollar  exchange  rate,
whenever there are external shocks.

Key Highlights of the report-

Given the uncertainties, the report highlights two key
areas of concern for the Indian economy: the fiscal
deficit and the current account deficit (or CAD).
As  per  the  Ministry’s  report,  the  economic  growth
outlook is likely to be affected by several factors
owing to the trade disruptions, export bans and the
resulting surge in global commodity prices all of which
will continue to stoke inflation as long as the Russia-
Ukraine  conflict  persists  and  global  supply  chains
remain unrepaired.
However, the momentum of economic activities sustained
in the first two months of the current financial year
augurs well for India continuing to be the quickest
growing economy among major countries in 2022-23.
The  World  is  looking  at  a  distinct  possibility  of
widespread stagflation. 
India, however, is at low risk of stagflation, owing to
its prudent stabilization policies.
The report stated that as government revenues take a hit
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following cuts in excise duties on diesel and petrol, an
upside  risk  to  the  budgeted  level  of  gross  fiscal
deficit has emerged.
The  report  underscores  the  need  to  trim  revenue
expenditure (or the money the government spends just to
meet its daily needs).
It has stated that rationalizing non-capital expenditure
has thus become critical, not only for protecting growth
supportive  capex  but  also  for  avoiding  fiscal
slippages.  
The  costlier  imports  such  as  crude  oil  and  other
commodities will not only widen the CAD but also put
downward pressure on the rupee. 
A  weaker  rupee  will,  in  turn,  make  future  imports
costlier. 

Key terms-

The fiscal deficit-

It  is  essentially  the  amount  of  money  that  the
government has to borrow in any year to fill the gap
between its expenditures and revenues. 
Higher  levels  of  fiscal  deficit  typically  imply  the
government eats into the pool of investible funds in the
market which could have been used by the private sector
for its own investment needs. 
At a time when the government is trying its best to
kick-start  and  sustain  a  private  sector  investment
cycle, borrowing more than what it budgeted will be
counter-productive.

“Capex”-

“Capex”  or  capital  expenditure  essentially  refers  to
money spent towards creating productive assets such as
roads, buildings, ports etc. 
Capex has a much bigger multiplier effect on the overall



GDP growth than revenue expenditure.

Current account deficit-

The current account essentially refers to two specific
sub-parts:

Import and Export of goods — this is the trade
account.
Import and export of services — this is called the
invisibles account.

If a country imports more goods (everything from cars to
phones to machinery to food grains etc) than it exports,
it is said to have a trade account deficit. 
A deficit implies that more money is going out of the
country than coming in via the trade of physical goods. 
Similarly, the same country could be earning a surplus
on  the  invisibles  account  —  that  is,  it  could  be
exporting  more  services  than  importing.
If, however, the net effect of a trade account and the
invisibles account is a deficit, then it is called a
current account deficit or CAD. 
A widening CAD tends to weaken the domestic currency
because  a  CAD  implies  more  dollars  (or  foreign
currencies)  are  being  demanded  than  rupees.

Stagflation-

Stagflation is an economic condition caused by a combination
of increasing inflation and high unemployment rates, which
cause a decrease in consumer demand for goods and services.


